AEVISION FOR T2W1 ASSESSMENT TASK

Circle Geomet
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If ~AOB=_COD then:

arcAB = arc CD and
chord AB = chord CD

Circle Geometry Result No.

If ~OCB=~0OCA then AC= BC

Circle Geometry Result No.
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Circle Geometry Result No.
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~ABC=_ADC

Circle Gemetry Result No.

If AC= BCthen ~OCB=.0CA=90"

~AOC=2xABC

Circle Geometry Result No.

IfAB is a diameter then ~ACB=90° B + D = 180°and .C + . A = 180

Circle Geometry Result No.
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If AB = CD then OE = OF

Circle Geometry Property No.
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FarcAB = arc CDor
chord AB = chord CD

then ~AOB=_-COD

Circle Geometry Result No.

If AM = MB and MN_LAB then NV

passes through O.

Circle Geometry Result No.

Circle Geometry Result No.
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ZAOC=2 x ~AABC

Circle Geometry Result No.
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~AOC=2 x LABC

Circle Geometry Result No.

«B = CDE

Circle Geometry Result No.

£DBA = /BCD

Circle Geometry Result No.

AB and AC are tangents to the circle from
the same external point hence AC = AC

Circle Geometry Result No.
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IfOC is a radius and AB is a tangent
meeting the circle at Cthen ~OCA =90°

Circle Geometry Result No.
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Line of centres OQ passes through C Circle Geometry Result No. Circle Geometry Result No.

the point of contact of tangent BT

Circle Geometry Result No.

Circle Geometry Results
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Equal angles at the centre stand on equal chords and equal arcs.

Equal chords (or arcs) subtend equal angles at the centre.

A line from the centre which is perpendicular to a chord, bisects the chord.

A line from the centre which bisects a chord is perpendicular to the chord.

Equal chords are equidistant from the centre.

The perpendicular bisector of a chord of a circle must pass through the centre of the circle.
Angles in the same segment are equal.

Angle in a semi-circle is a right angle.

The angle at the centre is double the angle at the circumference standing on the same arc.
Opposite angles in a cyclic quadrilateral are supplementary.

The exterior angle of a cyclic quadrilateral is equal to the interior opposite angle.

The products of intercepts of intersecting chords are equal.

When circles touch, the line of centres passes through the point of contact.

The angle between a tangent and a radius drawn to the point of contact is a right angle.
Tangents drawn from the same external point are equal.

The square of the length of the tangent is equal to the product of the intercepts of a secant drawn from
an external point.

An angle formed by a tangent to a circle with a chord drawn to the point of contact is equal to any point

" in the alternate segment.
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